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Tsunsunan 1 dwdunsandasinaiiuaie

kA AR R R R R R AR R AR R
! A COMPARISON ON PARAMETER - ESTIMATION METHODS IN !
! MULTIPLE REGRESSION ANALYSIS WITH EXISTENCE OF !
! MULTICOLLINEARITY AMONG INDEPENDENT VARIABLES !

| Thhkhkkhkkkhkhkhkkhkhkkhhkhkhkhkhhkkhkhkhdhkhkhhhkhhhkkhhkhhhkhkhkhhhhhhhkhkdhhhkhkhhkhkdkkkkhhkhhkhkhkhhkhkdkkkhhkhhhkkhkhkhkhkkkkkhkkdkkkk |

DOUBLE PRECISION LAMDA(100),EIG(100,100)

,SQROLS,SQRRLS,SQRRRR,
OLS, AMSERLS,AMSERRR,

DIMENSION C(5, TK(G6:6)Y, -» : . 'BRLS(6),BRRR(6),BRL(6),
\ RR(6),SQRL(6)
COMMON/SEED/IX, e

OPEN(5,FILE='CAYAROC!
OPEN(6,FILE='C™®
OPEN(9,FILE= 'C\ = S.DOC))

zix@ﬂﬁiﬁsmswaqni
A A AN

PRINT*,'NUMBER OF ROW="'
READ*N

PRINT*,'NUMBER OF COL='
READ*,M2

PRINT*,'NUMBER OF COL2="'
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READ*M

PRINT*,'NUMBER OF ITERATION="
READ*,COUNT

IX=65539

KK=0

DO 5I=1,N

DMEAN=0.0
SIGMA=1.0

DO 5 J=1,M2

XA(l,J)=NOR

WRITE(1,*)1,d,XA

5 CONTINUE

| ittt ittt L

| START FOR ITERATION

|******************************** X

DO 98 ROUND=1,COUNT 787/ - /.

CALLC_M -V'-:i'

DO 10 I=1,M2 -

B ANEN NGNS
" “HRaen Tl INYIAT

CALL MULTI(C,M2,M,N, XA X)
DO 15 I=1,N
DO 15 J=1M
WRITE(3,*)X(1,J)
15 CONTINUE



25

17

18

30

50

CALL BUILDY(X,M,N,Y)
DO 251=1,N

WRITE(5,*)Y(1)
CONTINUE

CALL EIGEN(X,M,N,LAMDA EIG)
DO 17 I=1,M

DO 17 J=1M
WRITE(12,*)I,J,EI

CONTINUE

DO 18 1=1M
WRITE(13,%)

CONTINUE

DO 30 I=1,M

DO 30 J=1,M

WRITE(,*)1,J XTX(1, J) 0
CONTINUE i
7

Ll
CALL OLS(X¥:XTX,M,N,BOLS)

°°45LV;,§§%§J’;VIEWI§WEJ"|W§
" ARAN TN INYAE

CALL RLS(X,Y,XTX,BOLS,M,N,BRLS,SIG2)
DO 50 I=1M

WRITE(10,*)1,BRLS()
CONTINUE

CALL PAP(XTX,EIG,M,AA BII)

167
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IPRINT*,BII

CALL RRRSEQT(BRLS,M,LAMDA EIG,BII,SIG2,SK)
IPRINT*,SK

KOPT=SK

CALL RRR(BRLS,XTX,M,KOPT,BRRR)
IPRINT*,BRRR

CALL DOPTRLS(SIG2,MBR
IPRINT*,D =
DOPT=D
CALL RL(BRLS )4 ‘."’.=}h

IPRINT* BR |

DO 60 I=1,M
WRITE(11,*),BRE(])

CONTINUE
CALL MSE(ROLS.BRLS.BRRR BRL M SC 5LS S@RLSE SQRRR,SQRL)
V. AX
DO 82 J=1.M J -

HUHIEMINeNS
IR aSE U Inga

CONTINUE

CONTINUE

DO 85 J=1M
OLST(J)=0.0
RLST(J)=0.0



87
85

89

93

RRRT(J)=0.0
RLT(J)=0.0
DO 87 1=1,COUNT
OLST(J)=0OLST(J)+0OLSM(l,J)
RLST(J)=RLST(J)+RLSM(1,J)
RRRT(J)=RRRT(J)+RRRM(l,J)
RLT(J)=RLT(J)+RLM(I,J)
CONTINUE

CONTINUE
DO 89 J=1,M
MSEOLS(J)=0
MSERLS(J)=R
MSERRR(J)ZRR
MSERL(J)=#
CONTINUE
AMSEOLS=0.0 L
AMSERLS=0.0 |
AMSERRR=0.0 7 .,ﬂ-ff
AMSERL£0:0 | .i:d
i -

SEOLS+MSEOLS(J

DO 93 J=1M
AMSEOLS=A

HuRdwenns
Co@ﬁﬁ@ﬁﬁ”ﬁfﬂwwqwﬂwaﬂ

AMSEOLS=AMSEOLS/M
AMSERLS=AMSERLS/M
AMSERRR=AMSERRR/M
AMSERL=AMSERL/M
SQROLS=0.0
SQRRLS=0.0

169
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SQRRRR=0.0
SQRRL=0.0

DO 94 J=1,M
SQROLS=SQROLS+(MSEOLS(J)-AMSEOLS)**2
SQRRLS=SQRRLS+(MSERLS(J)-AMSERLS)**2
SQRRRR=SQRRRR+(MSERRR(J)-AMSERRR)**2

SQRRL=SQRRL+(MSERL(J)-AMSERL)**2
94 CONTINUE

SDOLS=SQRT(SQROLE
SDRLS=SQRT(SGRRLS

SDRL=SQRT

PRINT*, AMSEQ .,SDOLS,SDRLS,SDRRR,SDRL

END

AULINENTNEINS
PRI TUAMINYAE
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Tsunsunan 2 dwmsunsandadrnaluiiluass

S A T R A SRR
! A COMPARISON ON PARAMETER - ESTIMATION METHODS IN !
! MULTIPLE REGRESSION ANALYSIS WITH EXISTENCE OF !
! MULTICOLLINEARITY AMONG INDEPENDENT VARIABLES !

| Fhkkkkhkkkkkhhkhhkhkkhkrkkhhkhkhhkhkhkhhhhhhhkhhhkhhkhkhhhhhkhhhhhhkhhkhkhhkhkhkhkhhkhhkhhkhkdk ki khkhhkhkkhkhkkkdkkkhkkkhhkhhkhhkhkhk |

DOUBLE PRECISION LAMDA(100),EIG(100,100)

AMSERL

DIMENSION C(5, (6:6)94100),BOLS(6) BRLS(6) BRRR(6).BRL(6),
BII(6 f ,7: ‘ R 5(6),SQRRR(6),SQRL(6)

COMMONY/SEED/IX, ) \
OPEN(‘I,FILE:'C:\XA.
OPEN(2,FILE='C:\C.DOC
OPEN(3,FILE='C:\X.DOC") i /8
OPEN(5,FILE="C\¥Al -_--—_ _.
OPEN(6,FILE='C ' |

I

OPEN(9,FILE='C:\BOLS.DOC))
OPEN(10,FILE=C:\ : v

i kiv v T
OPEN(12,fILE='C:\v.DOC). ¢ o v
ARIAAI NN INYA Y
PRINT*,NUMBER OF ROW="'

READ* N

PRINT*'NUMBER OF COL='

READ* M2
PRINT*,'NUMBER OF COL2='
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READ*,M

PRINT*,'NUMBER OF ITERATION='
READ*,COUNT

IX=65539

KK=0

DO 5I=1,N

DMEAN=0.0
SIGMA=1.0
DO 5 J=1,M2
XA(I,J)=NOR
WRITE(1,*)1,J,XA
5 CONTINUE

'***************************** *

! START FOR ITERAMOL

|********************************'K»

DO 98 ROUND=1,COUNT _s 82/ = /0

CALL C_M vt

DO 10 I=1,M2

U ANENTNGINT
*PARAeN TN INYIAE

CALL MULTI(C,M2,M,N XA X)
DO 15 I=1,N
DO 15J=1M
WRITE(3,*)X(1,J)
15 CONTINUE
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1%

18

30

45

50

CALL BUILDY(X,M,N,Y)
DO 25 I=1,N

WRITE(5,*)Y(l)
CONTINUE

CALL EIGEN(X,M,N,LAMDA EIG)
DO 17 I=1 M
DO 17 J=1,M

WRITE(12,*)1,J,El
CONTINUE
DO 18 I=1,M
WRITE(13,*)
CONTINUE

CALL XTRAN
DO 30 I=1M

DO 30 J=1,M ; jm

WRITE(6,)1,J XTX(1, I} 07 )

CONTINUE A v
v AY |

i
CALL OLS(X)¥ x M,N,BOLS) ~

ﬁguammmw 21N9
memmummmaa

CALL RLS(X,Y,XTX,BOLS,M,N,BRLS,SIG2)
DO 50 I=1,M

WRITE(10,*)1,BRLS(1)
CONTINUE

CALL PAP(XTX,EIG,M,AA BII)

173
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IPRINT*,BII

CALL RRRSEQF(BRLS,XTX,M,LAMDA EIG,BII,SIG2,SK)
IPRINT*,SK

KOPT=SK

CALL RRR(BRLS,XTX,M,KOPT,BRRR)

IPRINT*,BRRR

CALL RLFSEQ(BRLEIXTX,M.|
IPRINT*D
DOPT=D

.“'-\. -

g
W
" \1

CALL RL(BRES ) n-.=-\\\: \\

IPRINT*,BR

DO 60 I=1,M
WRITE(11,*)1,BRE(1)
CONTINUE y

CALL MSE(BDLS.BRLS,BRRR,BRL.M.SQOLS.SORL.5,SQRRR, SQRL)
. X

DO 82 J=1,M ‘i -

AN TWeINS
RIS N Inena

CONTINUE

CONTINUE

DO 85 J=1,M
OLST(J)=0.0
RLST(J)=0.0
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89

93

RRRT(J)=0.0
RLT(J)=0.0
DO 87 I=1,COUNT
OLST(J)=OLST(J)+OLSM(l,J)
RLST(J)=RLST(J)+RLSM(I,J)
RRRT(J)=RRRT(J)+RRRM(l,J)
RLT(J)=RLT(J)+RLM(I,J)
CONTINUE

CONTINUE
DO 89 J=1,M
MSEOLS(J)=C
MSERLS(J)=R
MSERRR(J)=RR
MSERL(J)=#
CONTINUE
AMSEOLS=0.0
AMSERLS=0.0 .

AMSERRR=0.0

AMSERL£0'0
v

-r

DO 93 J=1,M
AMSEOLS— SEOLS+MSEOLS(J)

~ERnmnens
Co@ﬁﬁaiﬂﬁﬁ“ﬁfﬂmmmaa

AMSEOLS=AMSEOLS/M
AMSERLS=AMSERLS/M
AMSERRR=AMSERRR/M
AMSERL=AMSERL/M
SQROLS=0.0
SQRRLS=0.0

145



SQRRRR=0.0
SQRRL=0.0

DO 94 J=1.M
SQROLS=SQROLS+(MSEOLS(J)-AMSEOLS)**2
SQRRLS=SQRRLS+(MSERLS(J)-AMSERLS)**2
SQRRRR=SQRRRR+(MSERRR(J)-AMSERRR)**2

SQRRL=SQRRL+(MSERL(J)-AMSERL)**2
94 CONTINUE

SDOLS=SQRT(S ,
SDRLS=SQRHSGRRESAM- §
SDRRR=SQRTIECRRERIM 1
SDRL=SQRT(S& f/
PRINT* AMSEC
END

AULINENTNEINS
ARIAATUAMINYAE

176

AMSERESAMSERRR AMSERL, SDOLS,SDRLS,SDRRR, SDRL



177

|*****t***********************************************I

I SUBROUTINE CALCULATE NORMAL !
)
FUNCTION NORMAL(DMEAN,SIGMA)

REAL NORMAL
COMMON/SEED/IX,KK
P1=3.1415926

IF (KK.EQ.1) GOTO 10
CALL RANDOM(IX!

R2=YFL
Z1=SQRT(-2*A
Z2=SQRT(-2*
NORMAL=(Z1*

KK=1
RETURN .
10 NORMAL=(Z2*SIGMA) +IME
KK=0 e
RETURN S

.1
W

|******************** e e % kK i“.‘*****t*****
! CALCUWE%M&LAM NINYINS

|******************************************* **

R R A 0 AN A Y

IY=1X*16807
IF(IY) 5,6,6
5 IY=1Y+2147483647+1
6 YFL=IY
YFL=YFL/2147483647
IX=1Y
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RETURN
END

| e ke sk ok e ke sk ok ok ke ke koo ke ke ek ok e ok ke ok ok ke ke ok ok ok ke ok ok ke ok ok ok ke ek ok ok ]

' SUBROUTINE CALCULATE C_MATRIX !

e
SUBROUTINE C_MATRIX(M2,C)
REAL SUMCIJ,SUMCII,COV(M2,M2),C(5,5)
Cov(1,1)=1.0
COVv(1,2)=0.7
COVv(1,3)=0.8
ICOV(1,4)=0.0
ICOV(1,5)=0.0
COV(2,1)=0.7
COV(2,2)=1.0
COV(2,3)=0.9
ICOV(2,4)=0.0
ICOV(2,5)=0.0
COV(3,1)=0.8
COV(3,2)=0.9
COV(3,3)=1.0
ICOV(3,4)=0.0

| UHANYNTNYNS

ICO
gcoﬁjiﬁmnimumwmaﬂ
ICOV(4,4)=1.0

ICOV(4,5)=0.6

ICOV(5,1)=0.0

ICOV(5,2)=0.0

ICOV(5,3)=0.0

ICOV(5,4)=0.6




20

15

25

10

'***********************i** ' e e s sk e e e ok ok e ke ke ok ok ok o ok ke ok ok ok ok ok ok ok ok ok ok ok ok ok e ke ***'

ICOV(5,5)=1.0
C(1,1)=SQRT(COV(1,1))
DO 10 I=2,M2

A1=I-1

DO 15 J=1,A1

A2=J-1

SUMCIJ=0.0

IF (A2.EQ.0) GOTO 5
DO 20 K=1,A2
SUMCIJ=SUMCIJ+C(1,5)%
C(1,9)=(COV(1,J)-SU
C(4,)=0.0
CONTINUE
SUMCII=0.0
DO 25 K=1,A1
SUMCII=SUMCII+C(1 ¢ L
C(1,1)=SQRT(COV(1,)-SUM ‘,
CONTINUE 5 T
RETURN A '

END "f‘ X

e A 4 g
TR I e

MUE(1)=0.0
MUE(2)=0.0
MUE(3)=
MUE(4)=0.0
MUE(5)=
DO 10 1=1,N

179
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DO 10 J=1,M2
SUM=0.0
DO 15 K=1,M2
SUM=SUM+C(J,K)*XA(l,K)
15 CONTINUE
XB(l,J)=MUE(J)+SUM
10 CONTINUE

DO 20 I=1,N
DO 25J=1M
IF (J.EQ.1) THEN
X(1,J)=1.0
ELSE IF (J.GE.2
X(1,J)=x8B(l,J
ENDIF
25 CONTINUE
20 CONTINUE
RETURN
END

e e s e e s e e ok ke e e ke ok ke ok e ke ok ok ok ok ok '

! SUBROUTINE CA t-

'************************** ' **********************'

NN NN
“§ 8RN Y

110 CONTINUE
B(1)=1.0
B(2)=1.0
B(3)=1.0
B(4)=1.45
B(5)=1.0



B(6)=1.0
DMEAN=0.0
SIGMA=1.0
DO 20 I=1,N
E(1)=NORMAL(DMEAN,SIGMA)
IPRINT*,E(1)
20 CONTINUE

DO 30 I=1,N
SUMY(1)=0.0
DO 40 J=1,M
SUMY(1)=SUM
40 CONTINUE
Y(1)=SUMY(I)
30 CONTINUE
RETURN
END

| ek ok ok ok sk ke ok ok ke ok ok ok ok ke ok ok ok ke sk ok ok ke ok ok ke o ok ok

I SUBROUTINE CALCULATE
!***********************
SUBROUTINE EIG

IMPLICIT REAL*8 (B- -Z

i E'ﬁifo”’l"] um mmmm

DIME
NDIM=100
MATU=.TRUE.

MATV=.TRUE.

CALL SVD(NDIM,N,M,A,W,MATU,U,MATV,V,IERR,RV1)

I T UM AN
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IRANK=N

DO 19 1=1,N

CN(I)=W(l)W(1)

IF (CN(I).LT.TOL) IRANK=IRANK-1

19 CONTINUE
RETURN
END

| SUBROUTINESVD !
SUBROUTINE SVD( mr.".{’u- ,RV1)

IMPLICIT REAL*8(B-H,Q
DIMENSION A(NM,M),
LOGICAL MATU,M

IERR=0
DO 100 I=1N
DO 100 J=1M
U(1,J)=A(,J)
100 CONTINUE : i'

v..
I.......HOUSEHOLDER RE SRM .......
G=0.0D0 |

H‘mﬁﬁmmwmm
YRR I INEa Y

RV1(I)=SCALE*G
G=0.0D0
S=0.0D0
SCALE=0.0D0
IF (.GT.N) GOTO 210
DO 120 K=I,N



120 SCALE=SCALE+DABS(U(K,I))
IF (SCALE.EQ.0.0D0) GOTO 210
DO 130 K=I,N
U(K,1)=U(K,I)/SCALE
S=S+U(K,I)**2
130 CONTINUE
F=U(l,1)

G=-DSIGN(DSQRT(S),f
H=F*G-S N
U(L,)=F-G
IF(.EQ.M)'E0

DO 150 J=LM
$=0.0D0
DO 140 K=I,N
140 S=S+U(K,)*U(K,J)
F=S/H
DO 150 K=I,N
U(KJ)=UK)+F UKD 2
150 CONTINUE 3
190 DO 200 K=IN
200 U(K,1)=SCALE*U(K,I¥

”1““;'0;““?1‘1mmmw 4N
Eﬁm\‘mmumqwmaa

IF (.GT.N .OR. .LEQ.M) GOTO 290
DO 220 K=L,M
220 SCALE=SCALE+DABS(U(I,K))
IF (SCALE.EQ.0.0D0) GOTO 290
DO 230 K=L,M
U(1,K)=U(I,K)/SCALE

7]

183



S=S+U(1,K)**2

230 CONTINUE
F=U(I,L)
G=-DSIGN(DSQRT(S),F)
H=F*G-S
U(l,L)=F-G
DO 240 K=L,M

240 RV1(K)=U(I,K)/H
IF (LEQ.N) GOTO 270
DO 260 J=LN
$=0.0D0
DO 250 K=L,M
250 S=S+U(J,K)*U(1,K)
DO 260 K=L,M
U(J,K)=U(J,K)+S3
260 CONTINUE
270 DO 280 K=L,M
280 U(1,K)=SCALE*U(l,K) |
290 X=DMAX1(X,DABSHV(1)+DABS(RV ) 102; 5
300 CONTINUE :

e ACCUMALATION F RIGHT-HAND TRANSFORMATIONS

'ff:t“:;@nﬂﬁmmm 8IN3
SRR TN INENa Y

IF (LEQ.M) GOTO 390
IF (G.EQ.0.0D0) GOTO 360
DO 320 J=LM

L DOUBLE DIVISION AVOIDS POSSIBLE UNDERFLOW

320 V(J,)=(U(,)U(,L)/G
DO 350 J=L,M

184



S$=0.0D0
DO 340 K=L,M
340 S=S+U(I,K)*V(K,J)
DO 350 K=L,M
V(K,J)=V(K,J)+S*V(K,I)
350 CONTINUE
360 DO 380 J=L,M

V(1,J)=0.0D0
V(J,1)=0.0D0
380 CONTINUE
390 V(l,1)=1.0D0
G=RV1(l)
L=l
400 CONTINUE

MN=M
IF (N.LT.M) Mi=h
DO 500 I1=1, ?_{
I=MN-+1-11

o ﬂ‘lJEJ’JVIEWI'SWEJ"Iﬂ‘i

Qiﬁ%%ﬁmumwmaa

420 U(1,J)=0.0D0
430 IF (G.EQ.0.0D0) GOTO 475
IF (.LEQ.MN) GOTO 460
DO 450 J=L,M
$=0.0D0
DO 440 K=L,N

185



440 S=S+U(K,)*U(K,J)
 JI— DOUBLE DIVISION AVOIDS POSSIBLE UNDERFLOW
F=(S/U(1,))/G
DO 450 K=I,N
U(KJ)=U(K,J)+F*U(K,I)
450 CONTINUE
460 DO 470 J=I,N

470 U(J,H=U()/G
GOTO 490
475 DO 480 J=I,N
480 U(J,1)=0.0D0
490 U(l,)=U(1,1)+1.0D0
500 CONTINUE
J— DIAGONALIZA
510 TST1=X
I.....FORK=N STEP -1 L
DO 700 KK=1,M

K1=M-KK
K=K1+1 2
ITS=0 Y/

|
| .....TEST FOR SPLITTING

o FRE VBN NENS
AW1AINTUNRIINYAY

TST2=TST1+DABS(RVA(L))

IF (TST2.EQ.TST1) GOTO 565

| ...... RV1(1) IS ALWAYS ZERO,SO THERE IS NO EXIT
| THROUGH THE BOTTOM OF THE LOOP ......

TST2=TST1+DABS(W(L1))
IF (TST2.EQ.TST1) GOTO 540

186
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530 CONTINUE
Vs CANCELLATION OF RV1(L) IF L GREATER THAN 1 ......
540 C=0.0D0
S$=1.0D0
DO 560 I=L,K
F=S*RV1(l)
RV1(1)=C*RV1(l)

TST2=TST1+DABS(F)
IF (TST2.EQ.TST1) G
G=W(l)
H=PYTHAG(F,G)
W(l)=H
C=GH
S=-F/H
IF (NOT.MATU)
DO 550 J=1,N
Y=U(J,L1)
Z=U(J,))
UJ,L1)=Y*C+Z*

UJ,1)=-Y*S+ ?.— ;"
550 CONTINUE - . )
560 CONTINUE — v
R ANEN NGNS
565 Z=

AW T UM AN

 J— SHIFT FROM BOTTOM 2 BY 2 MINOR ......
IF (ITS.EQ.30) GOTO 1000

ITS=ITS+1

X=W(L)

Y=W(K1)

G=RV1(K1)
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H=RV1(K)
F=0.5D0*(((G+2)/H)*((G-2)/Y)+Y/H-H/Y)
G=PYTHAG(F,1.0D0)
F=X-(Z/X)*Z+(H/X)*(Y/(F+DSIGN(G,F))-H) 1353
¥ o NEXT QR TRANSFORMATION ......
C=1.0D0
S=1.0D0

DO 600 I1=L,K1

=11+1
G=RV1(l)
Y=W(I)
H=S*G
G=C*G
Z=PYTHAG(F,
RV1(11)=2
C=F/z

S=H/Z
F=X*C+G*S

G=-X*S+G*Cig2
| v: ‘

T

H=Y*S
Y=Y*C

o HE TN INeng
ARaINIUNRIINYAY

V(J,11)=X*C+Z*S
V(J,I)=-X*S+Z*C
570 CONTINUE
575 Z=PYTHAG(F,H)
W(l1)=2
| — ROTATION CAN BE ARBITRARY IF Z IS ZERO ......



IF (Z.EQ.0.0D0) GOTO 580
C=F/Z
S=H/Z
580 F=C*G+S*Y
X=-S*G+C*Y
IF (NOT.MATU) GOTO 600
DO 590 J=1,N

Y=U(J,11)
Z=U{J,))
U(J,11)=Y*C+Z*S
U,1)=-Y*S+Z*C
590 CONTINUE
600 CONTINUE
RV1(L)=0.0D0
RV1(K)=F
W(K)=X
GOTO 520
..CONVERGENCE _ 2287/«
650 IF (Z.GE.0.0D0) € -,;f_,_:-,-i'
... W(K) IS MAD y?
W(K)=-Z

E;':;f-;l;‘mﬁw ININYINT
e ATl INYNAT

GOTO 1001
H s SET ERROR -- NO CONVERGENCE TO A
! SINGULAR VALUE AFTER 30 ITERATIONS .......
1000 IERR=K
1001 RETURN
END
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DOUBLE PRECISION FUNCTION PYTHAG(A,B)
DOUBLE PRECISION A,B

190

! FINDS DSQRT(A**2+B**2) WITHOUT OVERFLOW OR DESTRUCTIVE UNDERFLOW

DOUBLE PRECISION P,R,S,T,U
P=DMAX1(DABS(A),DABS(B))

IF (P.EQ.0.0D0) GOTO 20
R=(DMIN1(DABS(A),DABS(B))/P)**2

10 CONTINUE
T=4.0D0+R
IF (T.EQ.4.0D0) GG

U=1.0D0+2.0DC
P=U*P
R=(S/U)**2*R 4
GOTO 10
20 PYTHAG=P
RETURN
END

| e e e e e sk ok s ke sk ke ke ke ok ok ok ke e ok ok ke ok '.

| SUBROUTINE CA ’:F* .

| e ek deok ek sk ke e ek ok e ok ke ek e e e ek ke ok |

A Inenns

AR ANTAIMIINYAY

XT(LN=X(1J)
10 CONTINUE
DO 15 1=1,M
DO 15J=1M
TRAN(1,J)=0.0
DO 15 K=1,N



TRAN(I,J)=TRAN(I,J)+XT(I,K)*X(K,J)
15 CONTINUE
RETURN
END

[ Rdkkkkkkkkkkddkkkkhkdkhhhkdkhhkhhkhkhdkkhhkhkkhhhkkkhdhkkhhhkddkhr |

I SUBROUTINE CALCULATE XTX INVERSE !

e e e e e e e e e sk ok ke ke ke ok ok ke ok ke ke e ke sk ke e ek ok ke ek ok ek ke ek ook ok ke ke ok ok ok ok ek |

SUBROUTINE INVM(X,M,INV)
REAL X(6,6),SIGV(12,12)
DOUBLE PRECISION INM
DOS5I1=1,M
DO 5J=1M
SIGV(1,d)=X(1,J)
5 CONTINUE
N=2*M
N1=M+1
M1=M-1
DO 20 I=1,M
M1=M1+1
DO 20 J=N1,N
M2=J-M1 .

“EHIIN NN
oA RN TINUNIINYIAY

DO 25 K=I.M

20

IF (SIGV(K,1).EQ.0.0) GOTO 25
1=K
GOTO 30
25 CONTINUE
PRINT*,'THE MATRIX IS SINGULAR'
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30

35
40

45

50
55
60

65

STOP

IF (11.EQ.1) GOTO 40

DO 35J=1,N
E=SIGV(I1,J)
F=SIGV(I,J)
SIGV(I,J)=E
SIGV(I1,J)=F

CONTINUE
D=SIGV(1,l)
DO 45 J=IN
SIGV(1,J)=SIGV
CONTINUE
DO 55 K=1,M
IF (K.EQ.l) GO
IF (SIGV(K,]).
C=SIGV(K,I)
DO 50 J=1,N
SIGV(K,J)=SIGV(K, )

T

CONTINUE Y

CONTINUE

r
CONTINUE ~

EZZZTﬂumwﬂmwzm‘:
BN Tl INYAE

CONTINUE
RETURN
END
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1 Fkokkdokkkdddkkdkdkdkdkkkdkkkkkkkkkkkkhkkhhhkkkrkkhhhdkkkkrrk|

SUBROUTINE CALCULATE OLS METHOD !

| Fededkkdedkdkkkdedodkokkkkdddkkdkkkddkkkddkdkkkddkkkdddkkhkdkkkkdkkkkkhdk|

10

25

20

| ********Q

SUBROUTINE OLS(X,Y,XTX,M,N,BOLS)

REAL X(100,6),XT(6,100),Y(100),XTY(6),BOLS(6),XTX(6,6)
DOUBLE PRECISION INV(6,6)

DO 101=1,N

DO 10 J=1,M
XT(J,1)=X(1.J)
CONTINUE
DO 25 I=1,M
XTY(1)=0.0
DO 25 K=1,N
XTY()=XTY(1)
CONTINUE
CALL INVM(XTX
DO 20 1=1,M
BOLS(1)=0.0 LT T
DO20K=1M | :
4

(|
H |

BOLS(1)=BO
IPRINT* BOLS(H

o UL INGNTNYING
RAAINIUURIINYIAY

END

SUBROUTINE CALCULATE RLS METHOD !

| e e ke e e e sk ke e T vk e e e Tk vk ke ke Sk ke ke ke e ke ke e ke e e sk e Sk vk ke 3k vk e ke ke e gk ke gk ok e gk ok ke gk ke e ke ke ke |

SUBROUTINE RLS(X,Y,XTX,BOLS,M,N,BRLS,SIG2)

REAL X(100,6),Y(100),XTX(6,6),R(6),T,BOLS(6),RBOLS,REST,RINV(6), RINVRT,

193

INVRT(6),URLS(6),VRLS(6),BRLS(6),XBRLS(100),ERROR(100),SQERR,SIG2

DOUBLE PRECISION INV(6,6)



10

20

25

30

35

7=3.0
R(1)=0.0
R(2)=1.0
R(3)=1.0
R(4)=1.0
R(5)=0.0
R(6)=0.0
RBOLS=0.0

DO 10 I=1,M
RBOLS=RBOL
CONTINUE -
REST=T-RBOLS
CALL INVM
DO 20 I=1,M
RINV(1)=0.0
DO 20 K=1,M
RINV(I)=RINV(1)+R
CONTINUE
RINVRT=(gd« = £
DO25I=IM J
RINVRT=RIN T+RINV(I)*R(I) ~

o U NN TNYINT
AR NN TUNRINY1AY

INVRT(1)=INVRT(1)+INV(I,K)*R(K)
CONTINUE
DO 351=1M
URLS(I)=INVRT(I)*(1/RINVRT)
CONTINUE
DO 40 I=1 M
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40

45

50

55

60

ﬂu Elﬂ*?/*lﬂm*ﬂ N9
S“Bﬁfwﬁﬂ%ﬁwm NYIA

VRLS(I)=URLS(I)*REST
CONTINUE
DO 451=1,M
BRLS(1)=BOLS(I)+VRLS(I)
IPRINT*,BRLS(1)
CONTINUE
DO 50 I=1,N

XBRLS(1)=0.0
DO 50 K=1,M N
XBRLS(1)=XBRLOW XK
CONTINUE
DO 55 1=1,N
ERROR(I)=
CONTINUE
SQERR=0.0
DO 60 I=1,N
SQERR=SQERR+;
CONTINUE
SIG2=SQERRIN-M)
IPRINT*,
RETURN

l ek gk ke kok

SUBROUTINE RRR(BRLS,XTX,M,KOPT,BRRR)

REAL XTX(6,6),KOPT,BRRR(6),BRLS(6),XTXB(6),XTXRRR(6,6)

DOUBLE PRECISION XTXINV(6,6)
DO 101=1M
DO 10J=1M

IF (.LEQ.J) THEN

195



XTXRRR(I,J)=XTX(l,J)+KOPT
ELSE
XTXRRR(I,J)=XTX(1,J)
ENDIF
10 CONTINUE
CALL INVM(XTXRRR,M,XTXINV)
DO 20 I=1,M
XTXB(1)=0.0

DO 20 K=1,M
XTXB(1)=XTX
20 CONTINUE
DO 30 I1=1,M
BRRR(I)=
DO 30 K=1,M
BRRR(I)=B
30 CONTINUE
RETURN
END

!*****************‘k***** ; 3
v
| SUBROUTINE CALCHL:

|***********************i** c: **************I

196

z“sfiilm?:lm faneang -

AR A

R(2)=1.0
R(3)=1.0
R(4)=1.0
R(5)=0.0
R(6)=0.0
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15

20

25

30

35

40

CALL INVM(XTX,M,INVA)
DO 101=1M
SRT(1)=0.0
DO 10 K=1,M
SRT(I)=SRT(I)+INVA(I,K)*R(K)
CONTINUE
DO 151=1,M
RS(1)=0.0

DO 15 K=1.M
RS()=RS(1)+R(
CONTINUE -
RSRT=0.0
DO 20 1=1,M
RSRT=RSR
CONTINUE

DO 25 I=1,M
G1(1)=SRT(1)*RSRTINY:

CONTINUE o

DO 30 I=1,M | v}_'

DO 30 J=1M «

e UFINENINYINS
A HNNINTUUNIININY

AA(1LJ)=INVA(I,J)-G2(1,J)
CONTINUE
DO 40 1=1M
DO 40 J=1M
EIGT(J,)=EIG(1,J)
CONTINUE
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DO 45 1=1,M
DO 45 J=1M
PTA(1,J)=0.0
DO 45 K=1M
PTA(I,J)=PTA(I,J)+EIGT(I,K)*AA(K,J)
45 CONTINUE
DO 50 I=1,M

DO 50 J=1,M
PTAP(1,J)=0.0
DO 50 K=1,M
PTAP(I,J)=PT?
50 CONTINUE
DO 55 1=1,M
DO 55 J=1,M
BII(,J)=PTAR
55 CONTINUE
RETURN
END

'***********************,5 ;_ ’*************************|

-
™ 1

1
RESTRICTION IS FALSE) !

- ****************************'

oAb h b AN
SARTRYI N INeaL

R(1)=0.0
R(2)=1.0
R(3)=1.0
R(4)=1.0
R(5)=0.0
R(6)=0.0

v,
! SUBROUTINE CALCUL

'************************** G e e e ek e ok ke ko ok ok ok ok ok ok ok ok ok



199

CALL INVM(XTX,M,INVA)
DO 10 1=1,M
RS(1)=0.0
DO 10 K=1,M
RS(1)=RS(I)+R(K)*INVA(K,I)
10 CONTINUE
RSRT=0.0
DO 20 I=1,M

RSRT=RSRT+RS() R

20 CONTINUE :
RSRTINV=1/R

DO 25 I=1,M
F1(1)=R(1)*f

25 CONTINUE
DO 30 1=1,M

30 CONTINUE
RETURN
END

| XRhxkkdkhhkdkkhhdkhkhhkkkhkkk e e e e e e e ke e ek e e e e ok e ok ek ok |

1

! SUBROUTINE FIND & BY SEQUENTIAL SEARCH (RE rRICTION IS TRUE) !

%Wﬁ%ﬂﬂﬁ‘fﬁ“ﬁiﬂﬁ%ﬁﬁﬂ

DOUBLE PRECISION LAMDA(100),EIG(100,100)
INTEGER IS,ISS,IIS,11S1
DO 15 1S=1,5000
IF (IS.EQ.1) THEN
TK=0.0
ELSE



TK=TK+0.01
ENDIF
CALL VBRRR(BRLS,M,LAMDA EIG,TK,SIG2,BII VAR BIAS)
SMSE(IS)=VAR+BIAS
IF (IS.NE.1) THEN
1SS=1S-1
IF (SMSE(IS).GT.SMSE(ISS)) GOTO 16
ENDIF |

15 CONTINUE
16 SK=TK-0.01
SQMSE=SMSE(ISS)

I SEARCH K AGAI
! BEFORE K VALUE

11S=1
DO 30 QK=SK-0.01,SK,0.004% 757/ . - /.

CALL VBRRR(B N ;-",1,—:—" AL LT, WX, QI L, D u = - i
L}

QMSE(IIS)=VAR+ ?.'j.;*; :
IF (IIS.EQ.1) THEN -

W Ineninens
AN IUNNINYAY

IF (QMSE(IIS).GT.QMSE(lIS1)) GOTO 32
1S=11S+1
ENDIF
30 CONTINUE
GOTO 35
32 SK=QK-0.001
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35

40

42

60
50

SQMSE=QMSE(IIS1)
GOTO 50

I AFTER K INTERVAL 0.001

11S=1
DO 40 QK=SK,SK+0.01,0.001

IF (QMSE(IIS
1S=11S+1

ENDIF

CONTINUE

GOTO 50 2

SK=QK-0.001 v_i
SQMSE=QMSE(IIS Ty ~

/U
¥R TN INga Y

CONTINUE
RETURN
END
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| Fekededkeddkdkdk ke ke ko Ak Rk Aok kA ke kA kR A A AR ARk hhkhhkkhhkkdkkhhkkkkkdhhkkhdkhhrhkdhrhkrhhhhhdhkdhdkkhhkkkkdkhkrk|

SUBROUTINE FOR FIND VAR&BIAS BY RRR METHOD (RESTRICTION IS TRUE) !

| e e e e e e e e e e e e e e e e ke e ke ek ek ok ok e ek ke e ke ke ok ok ok ok ke e e e ok ok sk ke ke e ok ok ok ke ke ok ok ok ke ok ok sk ke e ok ok ok ke ok ok ok ke ke ok ok ke ke ok ok ke ke ok ok ok e ok ok ke ke ke ok e ke ek ok kekeok |

10

15

20

25

SUBROUTINE VBRRR(BRLS,M,LAMDA EIG,SK,SIG2,BII,VAR,BIAS)

REAL TRACE,SK,SIG2,BRLS(6),ALPRLS(6),BI,BIAS,BII(6,6)

DOUBLE PRECISION LAMDA(100),EIG(100,100),EIGT(100,100)
TRACE=0.0

DO 101=1M
(LAMDA(I))+SK)**2)

DO 151=1,M

DO 15 J=1M
EIGT(J,1)=El

CONTINUE

DO 20 I=1,M
ALPRLS(1)=0.0

DO 20 K=1,M

ALPRLS(I) . -i ——————————————— LN DRLOUN) —_— :
V. A
™ m

BI=0.0 - -

T uE AN N
"IN INNMINIAY

RETURN

CONTINUE

END
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] Fhkkkkkkkkkrrkkkkkkkkkkkkhkrdddhhrkkddhhhhrrhkhrkkrrkkhrrrhdhhhrhdkhrdkdhdrhhhhhhhkhhkkrdkkhhkrk|

! SUBROUTINE FIND K BY SEQUENTIAL SEARCH (RESTRICTION IS FALSE) !
kR Rk kAR kAR AR R AR kAR KRR R AR AR R AR AR AR AR AR AR AR AR AR AR AR |
SUBROUTINE RRRSEQF(BRLS,XTX,M,LAMDA EIG,BII,SIG2,SK)
REAL BRLS(6),XTX(6,6),SQMSE,TK,SK,QK,HK,SSMSE,SMSE(8000),QMSE(8000),
SIG2,MSERRF,BII(6,6)
DOUBLE PRECISION LAMDA(100),EIG(100,100)

INTEGER IS,ISS,I1S,11S1
DO 15 1S=1,5000
IF (IS.EQ.1) THEN s

CALL VBRRRF(BRL

SMSE(IS)=MSERRF

IF (IS.NE.1) THEN
ISS=1S-1

IF (SMSE(ISKGTSMSENSS)) GOTO 16
ENDIF

i |
W

© SN INNTNYINT
RIS MU INIaY

| SEARCH K AGAIN BY INTERVAL = 0.001
! BEFORE K VALUE

1S=1
DO 30 QK=SK-0.01,SK,0.001
CALL VBRRRF(BRLS,XTX,M,LAMDA EIG,QK,SIG2,BIl, MSERRF)



30

32

35

40

QMSE(IIS)=MSERRF
IF (IIS.EQ.1) THEN
1S=1IS+1
GOTO 30
ELSE
1S1=11S8-1
IF (QMSE(IIS).GT.QMSE(I1S1)) GOTO 32

IS=11S+1
ENDIF
CONTINUE
GOTO 35
SK=QK-0.001
SQMSE=QMSE(II
GOTO 50

I AFTER K INTERVAL

1S=1 _
DO 40 QK=SK, Sk 010001 :__ '
CALL VBRRRF(B ‘,‘l RRF)
QMSE(1IS)=MSERRF -
IF (1IS-EQy1 ‘ﬁ S
FUEINENINGINT
0 ¢ o s
WTRINTUUNIN Y
1S1=11S-1
IF (QMSE(I1S).GT.QMSE(IIS1)) GOTO 42
IS=11S+1
ENDIF
CONTINUE

GOTO 50

204
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42 SK=QK-0.001
SQMSE=QMSE(IIS1)
DO 60 HK=0.0,1,0.1
CALL VBRRRF(BRLS,XTX,M,LAMDA EIG,HK,SIG2,BII, MSERRF)
SSMSE=MSERRF
IPRINT*,HK,SSMSE
60 CONTINUE

50 RETURN
END

ek ke ke e e e ke e e e e ke sk ok ok ok e ke ok ke ke ek ************************|

I SUBROUTINE FOR

| e e e vk 3k ke ke ke e ke sk e ke ke e ke ok ok e ok ke ok e ke

RICTION IS FALSE) !

*********************'

SUBROUTINE VBRR SIG2,BII, MSERRF)
REAL XTX(6,6),BI1(6,8) AUPRLS BRLSIE) SIG LL(6),MSERRF
DOUBLE PRECISION 100%EK T(100,100)
DO 10 1=1,M
DO 10 J=1,M

EIGT(J, )= S £
A A

| ar
I I
¥ i¥

10 CONTINUE
DO 151=1M

o B INENTNYNS
o RTRESEI nent

CALL STAR(XTX,M,ROLL)
MSERRF=0.0
DO 20 1=1M
MSERRF=MSERRF+(1/((LAMDA(I)+SK)**2))*(((SIG2)*(LAMDA(I)**2)*(BII(1,1)))+
((SK**2)*(ALPRLS(1)**2))+(ROLL(1)**2)-((2)*(SK)*(ALPRLS(1))*(ROLL(1))))
20 CONTINUE



RETURN
END

| ***'k**************************************************|

SUBROUTINE CALCULATE D OPTIMUN !

| e ke ke e e e ke e e e e T ke e ke e ok ke ke e e ok e e ke e ke ke ok ke ke ok ok ke ke ok ke ok ke ke e ke e ke ke e ke ke ek ke e ke ok |

40

45

50

55

W1=0.0
DO 40 I=1,M

W1=W1+(B
CONTINUE
DO 45 1=1,M
DO 45 J=1M :
EIGTW,)=EIG(,J) .
CONTINUE AT .;-'f

DO50I=1M (o =)
; A J
ALPRLS(1)=0 ?}. B
DO50K=1M = .

WIS NS

AN TN INYAE

W2=W2+(((BII(I,I)*SIGZ)+(ALPRLS(I)**2))/((LAMDA(I)+1 )**2))

CONTINUE
D=1-(((SIG2)*(W1))W2)
IPRINT*,D

RETURN

END
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SUBROUTINE CALCULATE RL METHOD !

| e dededkedk ek kok ek ok ko ke dek ke ke k ke ke ke ke ek kk ek ke ek |

10

20

25

30

40

SUBROUTINE RL(BRLS,XTX,M,DOPT,BRL)

REAL XTXIDE(6,6),XTX(6,6),BRLS(6),BRL(6),DOPT,XTXB(6),DB(6),XTXDB(6)

DOUBLE PRECISION XTXINV(6,6)
DO 10 1=1,M

DO 10J=1M
IF (.LEQ.J) THEN
XTXIDE(l,J)=
ELSE
XTXIDE(l,J)=X
ENDIF
CONTINUE
CALL INVM

DO 20 I=1,M
XTXB(1)=0.0
DO 20 K=1,M
CONTINUE
DO 25 1=1M

CONT.NUEWET% YNINYINT
D°ﬁmam1muwwaﬂﬂwaa

CONTINUE
DO 40 I=1,M
BRL(1)=0.0
DO 40 K=1,M
BRL(I)=BRL(I)+XTXINV(Il,K)*XTXDB(K)
CONTINUE
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RETURN
END

|**************************t*****t*************i****************************t******************'

" SUBROUTINE FIND D BY SEQUENTIAL SEARCH (RESTRICTION IS FALSE) !

'**********************************************************************************************'

SUBROUTINE RLFSEQ(BRLS,XTX,M,LAMDA EIG,SIG2,BII,DK)

REAL BRLS(6),XTX(6,6),SQMSE,TK,DK,QK,HK,SSMSE,SMSE(9000), QMSE(9000),
SIG2,BII(6,6),MSERLF \

CALL VBRLF(BRLS,XTX,\
SMSE(IS)=MSERLF
IF (IS.NE.1) THEN

1SS=IS-1 y'

|
il

. MSE(ISS)) GOTO 16

. Co;,:z';ﬂumwsmw JNg
” sagﬂ&q(a)wmm AAINAY

IF (DK.EQ.0) GOTO 35

IF (SMSE(IS).

! SEARCH D AGAIN BY INTERVAL = 0.001
! BEFORE D VALUE

1S=1
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DO 30 QK=DK-0.01,DK,0.001
CALL VBRLF(BRLS,XTX,M,LAMDA EIG,QK,SIG2,BII, MSERLF)
QMSE(IIS)=MSERLF
IF (IIS.EQ.1) THEN
S=I1S+1
GOTO 30
ELSE
S1=11S-1

IF (QMSE(IIS).GT.Q
1S=11S+1
ENDIF
30 CONTINUE
GOTO 35
32 DK=QK-0.001
SQMSE=QMSE(IIS1
GOTO 50

| AFTER D INTERVAL 0.001. 424 A
TS e 33

35 fig=t vil

DO 40 QK=DK,DK+8:01,0.001

ZZZZZZ“?W‘EIWWWMWS
Wﬁ‘m\%imummmaa

GOTO 40
ELSE
1S1=1S8-1
IF (QMSE(IIS).GT.QMSE(IIS1)) GOTO 42
1IS=1IS+1
ENDIF
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40 CONTINUE
GOTO 50
42 DK=QK-0.001
SQMSE=QMSE(IIS1)
DO 60 HK=0.0,1,0.1
CALL VBRLF(BRLS,XTX,M,LAMDA EIG,HK,SIG2,BII|, MSERLF)
SSMSE=MSERLF

IPRINT*,HK,SSMSE

60 CONTINUE
50 RETURN
END
\\\ o
! SUBROUTINE FO HOD (RESTRICTION IS FALSE) !

I*********************i*i**** g gk ok 3 (\ 23 "k************************I

SUBROUTINE VBRLF(BRLS) LAMDA EIG DK< 81G2,B11.MSERLF)
REAL BRLS(6) XTX(6,6), HOLUBHROLLORTBAEN 6),51G2.DK ALPRLS(6),
MSERLF A7
DOUBLE PRECISION/LAMDA(100), EIG(100.100) & 1GT(
CALL STARIX
DO 10 I=1,M

Y AININTNYINS
AR AN I AN INYIAY

10

ROLLORT(I)=ROLLORT(I)+EIGT(I,K)*ROLL(K)
15 CONTINUE
DO 20 I=1M
ALPRLS(1)=0.0
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DO 20 K=1,M
ALPRLS(I)=ALPRLS(I)+EIGT(I,K)*BRLS(K)
20 CONTINUE
MSERLF=0.0
DO 25 I=1M
MSERLF=MSERLF+(((SIG2*BII(1,1))+((ROLLORT(I)**2)/(LAMDA(1)**2)))
*((LAMDA(I)+DK)**2)+((DK-1)**2)*(ALPRLS(1)**2)+((2*(DK-1)*

ALPRLS(1)*ROLLORT(1)*(LAMDA( D))/ (LAMDA(1)))/((LAMDA(1) +1)**2)
25 CONTINUE
RETURN
END

| ek sk e e e e ke e ke e ke ok ek ke ok ok ke ke ok ek

I SUBROUTINE CALC

REAL BOLS(6),BRLS(6),BRRRIGIE(6),BREBISQOL S(6), SQRLS(6) SQRRR(6),
SQRL(6) :
IDO10J=1M |
| BWU)=1.0

110 CONTINUE -

s ﬂ‘lJEJ’J‘VIEWIﬁWEJ’]ﬂi

B(3)
B(4)Q°1ﬁ1aﬂnimuwﬂﬂﬂ'1aﬂ
B(5)= 10
B(6)=1.0
DO 20 J=1,M

SQOLS(J)=(BOLS(J)-B(J))**2

SQRLS(J)=(BRLS(J)-B(J))**2

SQRRR(J)=(BRRR(J)-B(J))**2
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SQRL(J) =(BRL(J)-B(J))**2
20 CONTINUE
RETURN
END

AULINENTNYINS
RIANTUNNINGAE




213

s Y

Uszingliauineninus

uaanseaun  Bnwyddng Aatuenfindg® 11 HQuitu w.A. 2521 N91Ne
AliuazAIn AWMAIT  AnfanisAnenlFygrsTanaAmansioudin a1nata na
IAUAAIERT AMZANEIAART Nuanendayswa lulinnsinm 2543 uazidAnmsie
lundngrsatinA1aRTNMITNTR 8121805 N1ATTNATE AnEWImTaANARTuAZN191TYT

ANTOINMNINENAY 1D W.A. 2544

AULINENTNEINS
AR TN TN



	รายการอ้างอิง
	ภาคผนวก
	ประวัติผู้เขียน

